1
=
[ |

Footrest Support Assembly
93M

3

e
:
i




Footrest Support Assembly

93M
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 1035539 Handle, Release, Black - Right 1 1
1 1035540 Handle, Release, Black - Left 1 1
2 47565X057 Bushing (7/32 x 3/8 x 11/32") 1 1
3 7930360-NLA | NLA - Package, Screw, Phillips Pan Head (#10-32 x 25 1
11/16")
4 1008935 Spring, Release - Right 1 1
4 1008936 Spring, Release - Left 1 1
5 7930359-NLA | NLA - Package, Screw, Phillips Pan Head (#10-32 x 25 1
1/2")
6 1027095 Plug Button, Black (7/8") 1 2
7 11232X009 Bolt, Lug (5/16-24 x 1-3/8") 1 1
8 1107321 Nut, Low Cap (5/16"-24) 1 1
9 04706X035-NLA | NLA - Tube, Footrest Support, Adult, Chrome - 1 1
Right
9 04706X036-NLA | NLA - Tube, Footrest Support, Adult, Chrome - Left 1 1
10 1030979 Screw, Phillips Pan Head Tap (#10-32 x 3/4") 1 1
11 1022874 Bumper 1 1
12 67005X000 Rivnut (#10-32) 1 1
13 7930365-NLA | NLA - Locknut (#10-32) 25 1
14 A 1006490 Tip, Plastic, Black 1 1
15 1031191-NLA | NLA - Footrest Support Assembly, Adult, Chrome - 1 1
Right
15 1031192-NLA | NLA - Footrest Support Assembly, Adult, Chrome - 1 1
Left
B See Chart Pivot Slide Tube with Aluminum Footplate 1 1
NOTE: A - Before 10/1/00

B - Not Shown

The following pivot slide tubes with footplates are used with the above assembly. For more information on the pivot slide tube or
footplates see page titled "Pivot Slide Tube with Footplate".
Due to design change, for all chairs built prior to 10/1/00 it is suggested that Release Handles be replaced in pairs.

Pivot Slide Tube with Aluminum Footplate

Chair Width Standard 9-1/2" 2" Longer 11-1/2" 4" Longer 13-1/2"
10" 1007274-NLA N/A N/A
See Note(s) A
1007275-NLA N/A N/A
See Note(s) B
14" 1033506-NLA N/A N/A
See Note(s) A
1033507-NLA N/A N/A
See Note(s) B
16" 1017243-NLA 1086486-NLA 1086487-NLA
See Note(s) A See Note(s) A See Note(s) A
1017244-NLA 1086488-NLA 1086489-NLA
See Note(s) B See Note(s) B See Note(s) B




Footrest Support Assembly
93M

NOTE: A-Right
B - Left




